300

i

VRN
[ A

5o IIST0

A-A(1:2)

N

HTHy

=

a
\

98,8

69

scale: 1: 2
weight: 800g
devision: techn. reference dokument: status
ASSEMBLY
established from: name: 01.00
1: B. Gerloff PCB HOLDER '
Open Source approved from: rev. | date lang| page
Ecology Germany EN |1/2




BILL OF MATERIALS

ITEM aTy. DRAWING DESCRIPTION NORM / MAT.
NO. NO.
1 2 (01.01 arm
2 2 101.02 bracket
3 1 track
L 1 hexagon bolt ISO 4014 - M8 x 45
5 L hexagon bolt ISO 10511 - M8
6 5 flat washer DIN 125-1 - B 8,4
k; 3 hexagon bolt ISO 4032 - M5, Typ 1
- Produktklasse A und B
8 3 hexagon bolt ISO 4017 - M5 x 20
9 1 hexagon bolt ISO 4014 - M8 x 60
0 | 1 compression spring VD _090W_02 1 STEP
AP214
11 1 hexagon bolt ISO 4017 - M5 x 10

devision:

techn. reference

dokument:

BILL OF MATERIALS

status

Open Source
Ecology Germany

established from:

B. Gerloff

name:

PCM HOLDER

approved from:

01.00

rev.|date lang,| page
EN |2/2




